Sprawdzian na pétmetku — rozwigzania
A
zad.1 (3p)

3
o7+ (7427 =372-3:3: =37
Zad.2 (3p)

n=2k+1lubn=2k-1

(2k + 1) = 1 = 4k* + 4k = 4k(k+1) lub (2k - 1)* — 1 = 4k* - 4k = 4k(k - 1)
i uzasadnienie

Zad.3 (4p)
3(x—2) - 5x < -10
-3x+6-5x<-10

-8x<-16

X>2
XE (2, +0)
Zad.4 (3p)
O=-a+bi-20=9a+b
a=-2ib=-2
y=-2x-2
zad.5 (6p)

77+ (c-1)* = ¢’
49 +c®-2c+1=¢c

-2c=-50

c =25 d=0,5¢=12,5
P=0,5-7-24=84 84 =0,5-25h h = 6%
zad.6 (3p)

|x +5|<4|x+5|-6

3|x+5|<-6

|x+5|=>2

X€E(-00, - 7]U[-3,+00)



zad.7 (6p)
y =a(x +8)(x — 2) y =— i(x+8) (x—=2)

6 =a-4-(-6) y =— i(x2-2x+8x-16)=— ixz— %x +4

1
a=—-
4

__ _25 -1 2,25
p=-3 9= y=—(x+3)"+
XE[-8, 2]

zad.8 (6p)
x> =15%+12%- 21512 - cos60°
x° =189 i x>0

x=3v21

VI 12 WE VE w2 2T
12<3v21 <15 o S g0 125=3V21sina sin@=—=—

zad.9 (6p)

p=(13+20+21):2 =27
P=+27-14-7-6=3-3-2-7=126
126 = 27-r r= =42

3 3
13-20-21
126 =
126_63

R :6—5: 105
6
126=0,5-13-20 'sinad  sina=——=—

6
130 65

zad.10 (4p)

9x> —18V2 x* - 4x +8V2 =0 9%°(x - 2v/2) — 4(x -2v/2) = 0
(x -2v/2)(9x* - 4)=0 (x -24/2)(3x — 2)(3x + 2)=0
x=2\/§,x=§,x=—§



zad.1 (3p)
-3
1 - 1 3 1 1 1
167 - G)‘* 1364 =472 4242 =473= 272
Zad.2 (3p)

n=2k+1lubn=2k-1
(2k + 1)* + 1 = 4k* + 4k+2 = 2(2k*+2k+1) lub (2k - 1)* + 1 = 4k* - 4k+2 =
2(2k*-2k + 1) i uzasadnienie

Zad.3 (4p)

5(-x—2)-3x<6

-5x-10-3x<6
- 8x<16
x> —2

XE (—2, +00)

Zad.4 (3p)
O=-2a+bi-10=3a+b
a=-2ib=-4

y=-2x-4

zad.5 (6p)
52+ (c-1)% = ¢
25+c2-2c+1=¢

-2c=-26

c=13 d=0,5c=6,5

P=0,5512=30 30=0,5-13h h=4
zad.6 (3p)

4|x+7| < | 7+x|-3

3|x+7|<-3

|Ix+5|<-1

Nieréwnos¢ sprzeczna



zad.7 (6p)

y = a(x +6)(x — 4) y =— %(x+6) (x—4)
8 =a-4(-6) y =— %(x2—4x+6x—24)=— %xz— %x +8
1
a=—-
3
__ _gl __1 2,91
p=—1 q—83 y 4(x+1)+83

XE(-00, - 6]U[4,+0)

zad.8 (6p)
x> =16>+20°- 2-16 - 20 - cos60°
x* =336 x>0
X=4+21

16 _ 4V21 V3_ , L2 2V7
16<4v21 <20 o S oo 16=4V21sina sin@=—=—
zad.9 (6p)

p=(10+ 17 + 21):2 = 24

P=v24-14-7-3=4-3-7=84
84 = 24-r r=2’=3-

0-17-21 825 2 5
84 =2 R=—=102

4R 8 8

84=0,5-17-10 -sinx sina=¥

zad.10 (4p)
9% — 273 x* - 4x +124/3 =0 9x*(x - 3v3) - 4(x -3v/3) = 0

(x -3v/3)(9x* = 4)=0 (x -3v/3)(3x = 2)(3x + 2)=0
2

2
X—3\/§,X—§,X——§



